[ Efficiency vs vertpos |

—0.05
$.045
2
20.04
(&)
$.035
O
£0.03
0.025
0.02
0.015

=
2
N

+
b +

B & ol o o - -o-q»l—

1

MRS S e L UL U LN ALY RRARY RRRRN LRRRN LALLN LELL
n o n N
-
r
*
e
-
—i
A
—

il

107 1

10 0
TP vertr (cr%)

2

—=— DQM_TT _original

Efficienq —— pom_TT_newscore

..............................

.............................

.......

............................

10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~n0.05 T
P R SUUU U SUNU SN
L R A

S

L i i e

o St SR
> . . . . .

207 NN N SRS S 8
2 : : : : : : :
§8.025F -5 ervigees AR Frrerdeeeeed

© F : : : :
0.02F--wbemrrivgel e
0.015f -+ oo

Ratio

0.0
0.005

"
3
SouscosoooEooo

|
N
o

|
[6,]

|
=
o

Sim. PV z (cm)




	Contents
	Page 1


